AIEARAE (2/17%) . HhEAETE (3/6%)

KFAZHBTA MIBAAR 2025FEAMER

. REIEEBRE (3/14%)

e isizd=
EEAE i -7 e e
T FH e | DR | SEEH | SRES | ABER| EX
E)
; 8 HITHA 5 5 5 1.00
£0—/UL , .
a=2=4-33> § 2 2 2 i
%A 1 1 1 -
X HiHA 10 10 8 1.25
AAERAIL 3 P 4 4 4 .
1%HA 3 3 3 1.00
XEFEBET 5 = 25 25 23 1.09
HiIHA 12 12 10 1.20
D 4 P 2 2 2 1.00
12H 2 2 2 1.00
HiIHA 9 9 5 1.80
IN-E 5 P 4 4 4 -
INGLEE ,
125 0 0 0 -
HiIHA 3 3 3 1.00
Jryv=>3Z - 3 g 0 0 0
NISZIFHA > -
12 HA 0 0 0 -
AEIRIFERET 12 = 32 32 26 1.23
HIHA 8 8 6 1.33
) 3 A 1 -
BE
=H 2 2 2 1.00
BEFEE 3 - 11 11 9 1.22
& 20 - 68 68 58 [ 1.17
) BEAMTHET X MIFAROE TOBRESDEARTY .
TREH - TREY - ARERCE. B2EZUTOABESATLET,

HiBET A MIAAKOEGRRER(IIFAERTT.

HEMBEART



	共通テスト利用入試

